Agriculture /(
Perimeter & Area Worksheet Name / #"

Find the perimeter and areas of the following figures to the neare enth unless stated otherwise.

1. A farmer wants to fence a field for pasture. Barbed wire fencing costs $1.48 per foot and woven
wire lencing costs $1.93 per foot. Determine how much it would cost to fence the pasture with barbed
wire and also with woven wire fencing. The farmer wants to avoid overgrazing the pasture and plans to
graze 1 steer for every 4 acres of land. How many steers should the farmer put in the pasture?
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2. You want to place a cylindrical grain bin on a concrete pad. The diameter of the grain bin is 33 feet.
You want 1/2 foot of concrete around the outside of the bin. What is the area of concrete not

covered by the grain bin? 2 (&
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3. Find the area, in acres, ol 4 triangular field with side lengths of 650 m, 725 m, and 826 m. =~ G20 m
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4. A field is triangular-shaped. Two adjacent sides of the field are 825 m and 536 m. The angle
between the sides is 45°. To the nearest unit, find the area of the field in square feet. Find the number

of acres. /? _ % dé o C
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5. A farmer has a rectangutar hayticld measuring 850 yards by 475 yards. What is the perimeter and arca

ol the hayfield? Ilow many acres are the hayhcld‘?
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6. A square power-takeotf (PT'O) shaft with 1- inch sides must be covered with a round guard that
must have a ¥2-inch clearance at all points. What is the inside @@asies_of the guard?
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7. A farmcr wants (o plant 7.5 acres of tomatoes in a rectangular field that is 575 foct wide. What
should be the length of the rows?
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8. A grain elevator wants to construct a circular grain bin on a square building site. Tf the site
measures 36 1t x 36 [l and the grain bin can be huilt to the edge of the sitc, what is base area of the

largest grain bin that can be constructed? //71 T 2
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9. A lield of sweet corn shown below measurcs 450 m along one outside row and 578 m along the
other outside row. The rows measure 400 m. How many acres of sweet corn are in the field?
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10. A landscaper wants to make u hexagonal flower bed with a diameter of 6 feet. How many [eet of
cdging will be needed to border the hed? What is the square lootage of the bed"
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11. Find the perimeter and area of the figure. é
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12. Find the perimeter and area of the figure.
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13. Find the arca of the {igure to the nearest square unit.
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14. A high school football field is to be fertilized at a cost of $.25 per square yard. The rcctangular
part of the field is 120 yards long and the diameter of each semicircle is 53-1/3 yards. Find the cost of

fertilizing the field. /1[7 : ,Q O . {q - T (_2__
Length . vy — _
. ;}D: {20(&53) O = T (Q(o 3)

Pem - Licoud” /’4,_ = 2034, 04
(20 ;j,d? /—} G le %2‘{ SL@ b
L3 A% x %35 S| F 2155, scﬂ

1ayate]

Driameter




